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Home Science
Paper 1I

UERECEIE]

gyuteRt 11

Time Allowed : 75 Minutes]
Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

AT : A1 TRAAehd TR TR (50) SgUEREN TR fooidl oTRd. e SRRl g (2)

[Maximum Marks : 100

0 FRA. W WY e

1.

Which of the following is not a

Class I preservative ?

(A) Wood smoke

(B) Vinegar

(C) Sodium chloride

(D) Sodium meta-bisulphite

ADHD children may have :

(A) Lack of EFA

(B) Excess of EFA

(C) Lack of EAA

(D) Excess of BCAA

ESIGUh] HIVA STTEITHR Forg |

7 Aed T

(A) TTeherEl T

(B) feritR

(C) wifesm FINES

(D) Hifsaq HAe-aFaehEe

(A) EFA < syaidn
(B) EFA = ST 9HO
(C) EAA =t SHHd

(D) BCAA < &1 HIU

[P.T.O.
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The hormone required for digestion

of fat is :

(A) Ghrelin

(B) Leptin

(C) Cholecystokinin
(D) Insulin

Thali meal served in a restaurant

is an example of :

(A) a la carte menu

(B) Table d’hote menu
(C) Cyclic menu

(D) French classical menu

Acrodermatitis enteropathica is a
disorder associated with the

deficiency of :
(A) Zinc
(B) Chromium
(C) Iron

(D) Selenium

(B) o<

~

(C) =l

(D) TS
STERITeME fS&! SR o1e! |aiaueht
I QU 3R ?

oSN

GIESEIEAREIE

(A) 3 @& &R T
(B) s T B W
(C) "redish U,

(D) %4 FfERS 7]

SARISHICIE T=Uuefidl T qEio

N

TR FHNRAHS ASA TSR 37
(A) =Hi®

(B) shiHEH

(C) @

(D) faes=w
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The National Food Security Bill

2013 ensures :

(A) Access to adequate quantity
of quality food at subsidised
price

(B) Increase in national food

production

(C) Reduction in post-harvest

losses

(D) Free distribution of food to

the needy

The internal diameter of the
bangle used for quick assessment
of the nutritional status of an

infant is :
(A) 3.0 cm
(B) 3.5 cm
(C) 4.0 cm

(D) 4.5 ecm

T 3= e fadas 2013 1= :

(A) ST TUETE AT YHO,

o=l ed IUGsH vl

(B) ICITA 3 ICUTEATE GHTOT

EIEEN

(C) gHa 1= A== YA &

HLO

(D) TRSAT Hehe A fIawo &

F1ofeRT=A1 dvuT=AT St R HeIHIoH

OIS AU IO SIS = ST

MY k! 3Tl :

(A) 3.0 9.

(B) 3.5 &l

(C) 4.0 Gt

(D) 4.5 4.

[P.T.O.
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10.

Probiotics are used in the treatment

of :

(A) Diverticulosis

(B) Dysphagia

(C) Gastritis

(D) Nausea

Inulin is an example of :
(A) Oligosaccharide

(B) Polysaccharide

(C) Fructooligosaccharide
(D) Heteropolysaccharide

Which of the following foods has the

lowest a, ?

(A) Sugar

(B) Sugarcane juice
(C) Jaggery

(D) Honey

10.

(A) SRR

(B) fewmfsan
(C) TaereE™

(D) HedHau

(A) SHfETERTEs
(B) difedatie

(C) FREAfETHHTES
(D) FAUfEHRTES

QAU I STTIEIEi= a, Heald
HHl S 2

(A) HrERr

(B) 34r=n ™

(C) e

(D) #H¥
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11.

12.

13.

The toxin present in green potatoes
is :

(A) Solanin

(B) Aflatoxin

(C) Mycotoxin

(D) Sanguinarine

Which of the following oil is the best

source of oryzanol ?
(A) Sesame oil

(B) Mustard oil

(C) Soyabean oil
(D) Rice bran oil

Which of the following food has anti-

inflammatory effect ?
(A) Walnut

(B) Coconut

(C) Groundnut

(D) Cashewnut

11.

12.

13.

et sierena 2R faul 5o v
A ?

(A) TS

(D) HTFHH
JE@Ueh] I da SRESHiGH Harad
i TR ?

(A) e 9@
(B) Hd 1@
(C) Hrre= 9%

(D) TG HISAIHT HESS IS

TSI H! ST TucIeid g

[N

foiereh 701 eTi@esdl  ?

(A) 3ThIS
(B) R
(C) IieTon

(D) =19
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14.

15.

16.

Soxhlet apparatus is used for the

extraction of :

(A) Protein from groundnuts

(B) Toxins from groundnuts

(C) Fat from groundnuts

(D) Niacin from groundnuts
Denier of the yarn is :

(A) wt. in gms per 9000 meters
(B) wt. in gms per 1000 meters
(C) wt. in pounds per 840 yards
(D) wt. in pounds per 560 yards

A sewing thread should have the

property of :

(A) Elastic recovery
(B) Extensibility

(C) Good appearance

(D) High friction resistance

14.

15.

16.

HiFee 3T T JEIGUdh! el 3Th

HIEUIEE RS Sd 2
(A) IS Ffom
(B) IrEmare faudt s

(C) IeTvadie fememT

(D) ﬁ‘lC{IUQIdﬂl(O "||¢|er"|
5120 | MG e i e i

(A) 9000 THEX grma=E osH UM U
HiSTard

(B) 1000 fHeX grma= osq UM A
HISTard

(C) 840 TN HMIE oS UHs T
LI SEIGE

(D) 560 IR UFIE IS UHS T
LI SEIGE

frrerare aruard A= EATHEd
RIS TUHH e

(A) Tl qAuif
(B) @afdehdl

(C) =N I &Y

(D) 3= wuu faliees
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17.

A weave characterized by long floats

and lustrous appearance is :
(A) Plain
(B) Satin
(C) Twill

(D) Mock leno

17.

& fouie afitss wue o qt enfo

THHCR ¥ WEI 3d
(A) @t
(B) dfeq
(C) feo

(D) #ieh fel

B HTIST U HOATES!  hieg’ for

18. ‘Courses’ and ‘Wales’ are terms used | 18.
to describe : 'ed T A AR I
(A) Non-wovens (A) 7 faures wae
(B) Felts (B) Theeq
(C) Woven fabrics (C) faureses ke
(D) Knitted fabrics (D) fiee =me
19. A style of garment which is always 19. =EHl IRUAM U UES TR
popular is known as : B R S——
(A) Chic (A) fo
(B) Classic (B) FIfdeh
(C) Fashion (C) ®IH
(D) FAD D) ®e
[P.T.O.
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20. Silk fabrics are stiffened by using :
(A) Rice starch
(B) Sago starch (A) dgoer TS
(C) Gum starch (B) WG Tes
(D) Dextrin (C) fearr=t @
21. The “Presser foot” of a sewing (D) <SsfeA
hi h the followi NN N
machine as © ollowiie 21. i:’€|@|§ 1:||:’€|’_‘|1:|%:"}| Qldigld onld Yoelw
function :
YA 3T
(A) Holds the needle in position . -
(A) E@ IFT SR 964 3o
(B) Controls the movement of spoot . . )
(B) T@Edie Sr=ar=ar Td= s
thread
Hd
(C) Holds the fabric in place for
. (C) B ®ue 984 3ad
sewing
(D) Regulates the stitch length D) el HAMd odd
¢ ! m ....................... ﬁ.ﬁ_ﬂ.
22. “Retting” is a process in the 22. e’ & -
manufacture of : T ST
(A) Cotton (A) gt
(B) Asbestos (B) 3Tger=2ig
(C) Silk (C) W™
(D) Jute D) e
10
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23. Which of the following depicts the
correct sequence in management

process ?

(A) Evaluation, planning,

adjusting, checking, energizing

(B) Planning, energizing,

evaluation, adjusting, checking

(C) Planning, energizing, checking,

adjusting, evaluation

(D) Checking, evaluation, planning,

adjusting, energizing

24. In the systems approach of
management any effect of the
environment upon the system is

referred to as :
(A) Output
(B) Input

(C) Feedback

(D) Function

23.

24.

WAGUhT IVl G SHTEATTT Tfsha

3R HH ifaal ?

(A) qeared, TESH, IHrEeH, qamot

IO, YIom <

(B) oS, SO <0, Fedieh, FHESH,
qUIEO IO

(C) THare™, 9Tom <O, qUEON I,

HHRISH, T

N o~

(D) TYTEOR IOl J-Lwichvi, BRISER
TEESH, IO <0
sgaedTIAT=a] fafeey gyodl wed,

fafegar goma araEomET gftons
BN :

(A) &Y

(B) &9

(C) fhedn

(D) HRH

11
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25. The characteristic of resources that | 25. Tya™ AR, T I TERT HRUMHG
express the value, applicability and A Yoo, YA S0 Ieqeehal T2
productiveness for a purpose is : FE T A= =
(A) Manageability

(A) HFTEAHRdA
(B) Utility
(B) S9geridr
(C) Accessibility
(C) gar&ead
(D) Inter-relatedness
(D) TER Fafead
26. The method of resolving conflicts that
26. Fed faefauaren fafay wgdids! waid
exhibit the highest level of
I HARSH RifGud 9gd ®US
adjustment is :
(A) T FROMTEN Jehlol
(A) Voluntary submission
(B) Dominance B)
(C) Integration (C) TR
(D) Compromise (D) TesIE
12
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27.

28.

The energy cost of the task is

determined by :

(A) Determining the energy cost of

the work

(B) Determining the oxygen

consumption

(C) Determining energy cost of rest

(D) Determining the difference

between the energy cost of task

and energy cost of rest

Which of the following is not a
technique of motion and time

study ?

(A) Pie chart

(B) Pathway chart

(C) Process chart

(D) Operation chart

27.

28.

FHE ol fhAd @IoteUsh! HIT

oS Ad ?

(A) =t I fopda St

(B) Afferas fordt 9HOMd SR 7T
d A

(C) fagrd wreor=i 3o fehmd ST

(D) &=t soit feaa enfor fasmdt

FTeor=t 3o fhAd ATdIS Hih

i

T ST HE A ST hIuATdTS

WSIGUh! RV Tgd oTRd -Teid ?

(A) ‘U’ qEd

(B) ‘HM’ ARTEE]

(C) ‘Ufshan’ ANTEE

(D) ‘Hdl’ ATEEI

13
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29. House planning principle of | 29. == fASHrE deardent * feshEemar’
orientation states that the kitchen T QAT EAT YIRS THAT
should be placed towards : GIOIGUHI IS el ?

(A) South (A) =l
(B) East B) T
C) dFHel
(C) South-west ©
(D) IWe
(D) North
30. WM R aecardl 9 i
30. Illusion of space in a room can be . o e
h{U[HIal LlloldYshl plU[dl UHId]
created by having :
RS S ?
(A) Warm colour scheme ..
(A) SRR TTE]
(B) Complementary colour scheme (B) TF T
(C) Cool colour scheme (C) frd® T
(D) Monochromatic colour scheme (D) TH TTET

31. During most of the preschool period, | 31 TTqe SwoEHidel SU=El He o
the child is in the : HIOT ATLT TTd 2
(A) Sensorimotor stage (A) TASIhReh 3Taeeq
(B) Concrete operations stage (B) Hd Hehial 3Teen
(C) Preoperational stage () W el
(D) Formal operations stage (D) ST HohTaT SToreel

14
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32. Apgar scale is a rating system used 32, AUIR ol IR HIME T
to assess :
LIS &l Sl ?
(A) Cognitive abilities of a new-
born (A) TESIATeAT ST &Il
(B) Neonate’s reflexes (B) eraren wfafara s
(C) Newborn baby’s physical ‘
(C) SFATMAY & U TISTd
condition immediately after
birth dlocnld] 2N Ii‘»a%il
(D) Developmental status of (D) &= depTiges feordt
babies
33. dATa&THdI H"‘llC{"l °h{d|."|| HTS ST
33. A behavioural disorder
ST iR S RUN
characterized by difficulties in ‘
acquiring the ability to read is : (A) Feqedmn
(A) Dyslexia
(B) fewmmsian
(B) Dysgraphia
(C) feumorgfo
(C) Dyscalculia
(D) Aphasia (D) kg
15 [P.T.O.
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34. Socio-cultural approach to cognitive

35.

development is put forth by :

(A) Piaget

(B) Bandura

(C) Skinner

(D) Vygotsky

A research design in which one

group of participants is studied

repeatedly at different ages is known

as :

(A) Longitudinal design

(B) Cross-sectional design

(C) Modified experimental design

(D) Microgenetic design

34, dyrcqs ok Gt -TTEhidH

35.

Sfesr w00 wied 2

(A) Ty

(B) gy

(C) f&rTt

(D) SRR

FHITTAT GIMEA AT SATd THTH

T STeTesd] SATd Y981 3T4ATd el

S ?

(A) wifeIEHe fegmA

(B) »A-T=w®Me fegmed

(C) HiEwEe TouiiHes feums

-~

(D) HIIhI

3
U

ab
Ay

o

ch EUER
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36. A parenting style that is high in | 36. 3ifqaroft IOMG o & FfqHERTHS
demandingness and low in U UIGhEEl IS WU
responsiveness is known as : (A) THWTE TowE
(A) Authoritarian parenting (B) Afuswr TrowE
(B) Authoritative parenting (C) AFa® 2R UoHe
(C) Permissive parenting (D) SARTFN FOR ToFHE
(D) Rejective parenting 37. Toi HUE UM TievATEEl T

37. Parton’s play categories can be used AT WA TR ITAN el
to find the level of children’s : S ?

(A) Cognitive play (A) AUHS T
(B) Dramatic play (B) IS ©B
(C) Social participation (C) HHISTR HEHF
(D) Functional play (D) wEHE B
17 [P.T.O.
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lead to a single best answer or I 9F TS
solution is :

(A) wgfezt faamaft
(A) Divergent thinking

(B) difsher foramareft
(B) Logical thinking

. (C) fomH
(C) Reasoning
(D) Convergent thinking (D) THIIT T=RE
39. The non-formal education aims | 39 et feomer &g
AL s . (A) m 3;|Tﬁ]'|‘ W&]a;
(A) Theory and practical (B) e
(B) Distance learnin
. (C) FHSIIANT &3

(C) Socially useful learning )

(D) foemeaat stemem
(D) Academic learning

40. T wigRar AfFEET geaa
40. National Literacy Mission was

S .
launched on :

(A) 7 H 1988
(A) 7th May 1988
(B) 5th May 1988 (B) 5 H 1988
(C) 6th May 1988 (C) 6 # 1988
(D) 8th May 1988 (D) 8 H 1988

18

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

42.

43.

means to keep a

watch on what is happening.
(A) Supervision
(B) Evaluation
(C) Comparison
(D) Monitoring

Overhead projector uses the

principle of .......cccccoviiiiinnnnn. .
(A) Indirect Projection

(B) Projection

(C) Digital Projection

(D) Direct Projection

is the most

of

dependable medium

communication where there are

frequent power cuts.
(A) Flip chart

(B) Slide show

(C) Overhead projector

(D) Radio

41.

42.

43.

FTI  Ted Il

a&l

(A) AYT&] G
(B) 9&9u
(C) fefoes g™

(D) T8 F&Yul

fogd qael @i sion=a1 foshrof

19
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44. The principle of the whole family

approach should reach :

(A) All the members of the rural

(A) T AT 99 WeE

area

(B) 9HNIIG 99 9e&g

(B) All the members of society

(C) foumdiere 99 9=

(C) All the members of university

(D) HadIe He Fo&
(D) All the members of the family

45- ............................ qqquq')l-“_ql {O’l‘!:i\ ohl-n
45, e may reduce the
L.

expenditure of the programme.

(A) Supervision (A) =ErE

(B) Evaluation (B) HeIAMA

(C) Communication (C) Hyom

(D) Technology (D) d&=HE

20
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47.

48.

is non-projected

audio-visual aids.
(A) Television

(B) Radio

(C) Puppet show
(D) Motion picture

Which of the following is not a

measure of central tendency ?
(A) Kurtosis

(B) Mean

(C) Median

(D) Mode

Research subjects must give the
following before they can participate

in a study :

(A) A Bond

(B) A Mortgage

(C) Informed consent

(D) Compensation

47.

48.

(A) Sersreof
(B) esw

(C) Fgal Fgedral ©d

(D) @@ fa=de

fa)

ISGUh! HA <G ore~dld <3
T AR ?
(A) HAHE

<
[

%

(B) W+
(C) THErRm
(D) #re

TINEAME] EWr Sroarge e
qdte M=t gadr &I SEara®

qE

(A) HIAH

(B) R

(C) |yl wifedt ®ed STgHdl IW
(D) JHEH e

21
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49. A researcher designs an experiment
to test how variables interact to
influence learning capacity of
children to spell words. In this case,

the main purpose of the study is :

(A) Explanation

(B) Description

(C) Influence

(D) Prediction

50. Sampling in qualitative research is

similar to which type of sampling in

quantitative research ?

(A) Simple random sampling

(B) Systematic sampling

(C) Quota sampling

(D) Purposive sampling

49.

50.

@ HoT=A1 J01 SEHTER IV TS
TS TSl ST GENEA M1, TEeehT=a

AT b I3 & IR

(A) Toerur/eqsteRmo &I

(B) 9IS

(OEICIRED

(D) ¥ehid &0

THATSIT HIAHT T[UGTIh GINYA 9
qRAMES FIEE A e e

U 3edd

(A) I T ==

(B) UGB T =44

(C) THaamT T ==

(D) SEASHERT THA =3

22
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ROUGH WORK
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ROUGH WORK
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